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B.Sc. 3rd Semester Pass (New Scheme)
Examination, December-2015

CHEMISTRY
Paper-CH-201, VIII

Inorganic Chemistry
Time allowed : 3 hours] [Maximum marks : 29

Note : Attempt five questions in all. Question No. 1 is
compulsory. Selecting one question from each

section.
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1. (a) Why are d-block elements called transition
elements? 1x5

d =t @t B WA o R’ Fed § 7

(b) Name the elements of the third transition series
which possess highest density.
el ST HEe & e B T Sasd R g
Jeqad B § )

(c) Whatis achelate ?
dicie 7 § ?

(d) What are protic solvents ?
e e 0 & ?

(e) Name a transition metal which is liquid at room
temperature.
T HEHHOT |1 & AT ST S FAR B AYHA 9T O e
)
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‘hy do'we call d-block elements as transition
elements ? How you justify that iron is a transition

metal but sodium is not ? 2
Why transition metals are less reactive than
s-block elemen‘ts ? : ' 2
Describe the structure of FeCl.. 2

B 31 % awl A S A A Fed § 7 o A ghe
H( b AR T w1y ¥ g A e R

2
HEUT O] CH-S de @ oner & s @t
g7 | 2
FeCl, @t @& & avi ik | 2
Why chromium and copper have irregular
electronic configurations ? 2
Why Zn? ions are always colourless ?. 2
Describe the structure of Ni(CO) » 2
R o HR F bt Rt e = a
%7 | 2
Zn* I R TRM i A ¥ 2 2
Ni(CO), @i W= F o HRmw) 2

Section-II gve-I1
Name the heavier elements of Group 6 and discuss
why the chemistry of heavier elements is similar?
3
Give a comparative account of chemistry of
titanium, zirconium and hafnium. 3
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feerivam, Rnifm T erwfen & R & oF
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V {3¥" What are the elements of second transition series?
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How do the chemistry of these elements differ
from the first transition series ? 4

. Name all the elements of third transition series

and write general electronic configuration, 2
et HpmoT e & G A & ? 39 ae H WEe
o SR @ e T SEer @ R e R 7 4
GRIEEE L I e G B o O
erestih o R | 2
Section-III gvz-III
What do you understand by EAN ? How does EAN
help in predicting the formulae of several
coordination compounds. 4
Draw all possible isomers of 2
(i) Fe(NH,Cl, (i) [Co(en)CI]
EAN & o 71 w3 € ? s & Wi Al & g
F g@ga @ & EAN Ree s Semen ser & 7
: 4
Pl & ool it et @ it @it 2
(i) Fe(NH,),Ci, (i) [Co(en) Cl]
How does the valence bond theory account for the
paramagnetic behaviour of [NiC/,]* and the

diamagnetic behaviour of [Ni(CN),J*? 4
Draw all the four possible isomers for the ion
[Co(en) (NT13)2 (H,0) CiT*. 2
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(®) [NIiCL]* & oqg=s amer @ [Ni(CN) > %
ufrgrE e & e aow @ R R e |

FTRErl & ? 4
(@) emm [Co(en) (NH,), (H,0) CII* & fm wft =x
qoyifee emaedl - fafe S 2

Section-IV gre-IV
8. (a) Discuss the following reactions in liquid sulphur
dioxide : 4
JA¥  Acid base reactions
(i1} Complex formation reactions
{i#) Precipitation reactions.
(b) Why liquid ammonia is a better solvent than water?

2
V'/(m) T e SRS § Pt sibsatel A1 RiderT
Fifome - _ 4
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(ii) wiwe Fmier sfiead

(iil) weyer sifRad |
(@) %@ eniiffan o@ @ e o SeY Rems wi g 2 2
/9/ ‘(2‘}/ How does dielectric constant play an important role

in the selection of a solvent ? 3
(b) Whatissolvolysis ? ° 3
(®) el e & 999 § sEaaigs RS B K 8 O
weEye e e @ 7 3
(@) iR T & ? 3
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